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1 The branch of science that deals with the study of mineral matter of the earth IS

called -
a) Mineralogy , ~ b) Sedimentalogy
c) Petrology R d) Glaciology
23RN0 QT WA Slafevery SREOT SRITP T |
a) NOJTOOT b) FRZo0E3o
C) WEIRCTDT d) rie0INOT
2. Xerosere is the succession on
a) Barren rocks b) Water body c) Forestfloor d) Allthe above
“E0ReTT BQ, STOLIIONIBTS
) BL) WOBODNY. b) 86685@2_} C) BRIV d) SORPB
3. Flesh eating animals are called
a) Herbivores b) Carnivores
c) Frugivores d) Both (b) and (c)
SI00R ajﬁ? TID,EINTD
a) FRTIONT ' b) TIRCRTIONED
C) FCOTOND d) (b) =332 (C) TTER
4. Indoor noise pollution sources do not include
a) Mixer and grinders b) Exhaustfans and AC
c) Vacuum cleaners d) Iron box |
20DONED eﬁu@dmﬁ@s fa@r{%ﬁa’% LPROBL.
a) 0BT N B 1§ 0TWT® ned b) T FR,ZTNW 03 R
C) 9,8RWI FERT N d) cRzeN
5. Maximum concentration of AIDS/HIV is found in
a) Africa b) Asia c) Europe d) Australia
AIDS/HIV o3 a9 @wN TOTOWTIBT.
a) BT D) e, c) ol d) €A O
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6. Earth provides enough to satisfy every man’s need, but not for every man’s
greed is said by

a) Tagore b) Gandhiji
c) Nehru o ' d) None
“ 2300030 TRORT BRI IZODI), VENAZT ST0 SORRFD TITIRONIY” OO
O3RTO BELTTY ? '
a) PNRCTT - b) Moodeed
c) SoTw d) odnte ¥
7. Blindness is due to deficiency of
a) Vitamin A b) Keratin c) RBC d) Calcium
S BRT00TI BOTITICEINIBTS,
a) <. [N b) 300e3S* c) FoyTTsee d) 53,0030

8. What is “Black Lung” ?
a) Occupational hazard to the miners
b) Occupational hazard to navigators
c) Occupational hazard to pesticide applicators
d) Occupational hazard to agricultures

"3R8 OO 00T
a) D" YV eNNE 03TTO03DFTOOT

b) mo0rewso” WuBdReNne 9T 030T0F
C) $S0TOTT YVTR,ENNT L5T2030FTT
d) Z&E LUTR,ENNY LTOITITT

9. Thickness of plastic bags permissible to use is above

a) 40 microns b) 20 microns
c) 100 microns d) 10 microns
TRAT® WEVT BR ‘ QTT T IO NI EITIVTOS BT,
a) 40 SHE] b) 20 350
c) 100 57, d) 10 5",
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10. What is edge species ?
a) The species which occur abundantly in the ecotone

b) Species on the verge of extinction
c) Rare species
d) Threatened species

3003 LTI DOTTERO ?

a) VERELERCT DO BECYeON VT SIANSIELY
b) T2 BREMISTII TWLIETINT

C) NTHTT TIeTNEd

d) S TLICTINGO

11. Highest women literacy rate in India is In

a) Karnataka b) Kerala
c) Punjab d) Bihar

NDIOEIWIIACK 5&5&5 0D AT gelebveniad

a) TIOF 3D b) 0%

C) ToeZeT® d) WET°

12. Silicosis disease is mainly caused by

a) Quartz grinding b) Coal mining

c) Petroleum refineries “d) Asbestos mining

2 OBRCIRT FOCASN ToTED

a) T F N oo b) dee® oM

c) Sedredoko OF DO d) e eIRReT QNN

13. Plants which grow in water are called ,
a) Hydrophytes ‘D) Xerophytes c) Halophytes  d) Mesophytes

Q00T LIFCIE BR, N
) HTREFPE b) STRFE, C) T,CRERES, d) S0eRPET L
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14. Extensive planting of trees to increase the forest cover

ARG R0

a) Deforestation b) Afforestation
c) Green revolution d) None of the above
éw’%& ézabwdodr{@ddg{ 23832 FoBT mogé’ éz&wﬂo&%
a) 0D b) €20¢3,¢30¢3
C) DATOBT08 | d) cIRRTR B
15. The mineral constituent of diamond Is
a) Calcium carbonate b) Silica
c) Carbon d) Chlorine
ST RO €30
a) 5000 BOLIRE CIeL3 b) 2%
C) TRIF d) &R0’
16. Damage to Taj Mahal is due to
a) Acidrain b) Yamuna poliution
c) Oxygen depletion d) CO, accumulation
T WD 83 LAV c;ﬁéé QUOEIINOB TS
a) €533 3O b) 00T IO TR,
C) BRWMWTTE ERTS d) QorewTs T &% 'S AONT

17. Movement of soil particles from one place to other is
a) Mud flows b) Landslides c) Glaciers

SOEY SEIRTTALED ﬁoe%fgabocﬁ 3eTEN RT3, BT T
a) or) POCIVNT ) FRAR TONE  C) BT R

18. Hot spots are the areas which have

d) Soil erosion

d) weg RS

a) High biodiversity b) High level of threat

c) High level of plant loss d) Allthe above

B3 TTEBNTTY LR ISNT0TI FTOINT &3

a) T3 eI R b) eﬂmabﬁr%@md SOt
C) TS ARTOD d) 0O QP
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19. BOD stands for

a) Biochemical Oxygen Demand b) Biological Oxygen Degradation
c) Biochemical Oxygen Determination  d) Biological Oxygen Depletion
2. 20. 8. 0TT

a) WO3REFIIFL® ST 3339, 00° D) 20T SIWT” BN, TR’

C) WodREBNNTELT 33y’ BUAFIERY  d) WODUIWTLT SIRT® BYLHET’

20. Fungicides are used to Kill

a) Bacteria b) Fungi c) Virus d) Algae
596053, THTTRFR DR BRQLD Lo pen=ogess |
a) AT 2D T b) &deory C) R0 d) =908

21. Deforestation results in affecting

a) Ecological factors b) Socio economic factors
c) Both (a) and (b) d) None of these

ST RETTENY) AWT T306E3 WOTTOI) WETITT.

a) FOITT LOBNEL b) Zo70w3T- SIQFT L0TNE
c) (a) =02 (b) 20E® d) cInRmue @

22. Three R's referto
a) Random, Reduce, Remodel b) Reduce, Reuse, Recycle
c) Reduction, Retardation, Randomness d) Reconstruction, Reduction, Reuse

SUOTY ‘307 h’%ﬁ&; %oer?aigt@d

a) 09,00, SRR A", DeSREe* b) SR A®, DeCRA, OeRTe*

C) DB, DWT WS, U2, 0T8O d) DeE"R 3", DWFD', OCCINRA’
23. Kaziranga National Park is in

a) Bihar b) Assam c) TN d) MP

BTN Ty, €0 LVIRTES VYT,

a) VBT D) &m0 c) T.N. d) M.P.
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24. UV rays are responsible for
a) Skin burn and mutations alone b) Skin Cancers alone .
c) Both (a) and (b) d) None of these

0320.8Y. BTN QT YVOEFINED FToTEICLILRTIONT
a) AT LT [IBY LD NSO BRT b) AT 5JIT° 2R,

c) (a) @y (b) wowe d) SRRYTR Y

25. Expand LPG.
a) Liquid Product Gas b) Liquefied Petroleum Gas
c) Liquid Paraffin Gas d) Liquefied Purified Gas
LPG 03070 SR04,
a) 93 TPTE, A’ b) 93,5 Sedredodo AT
C) O3, TRTIRET’ MRA° d) 93w ROPT A

26. The most abundant gas in the atmosphere Is

a) Oxygen b) Nitrogen c) Hydrogen d) Argon

TITIRVLWY TeOYeIN TRTCIVD AW

a) SWITIT b) Fo%T3 C) WORIB d) e
27. Soil erosion can be prevented by

a) Overgrazing ~ b) Removal of vegetation

c) Afforestation d) Deforestation

z;ifam’d%@?odadgt STOI Ded

a) 230 ROCNCTTED b) REDNE édd)ﬁﬁ@w@w

C) 03,6509 d) @dsamzfﬁ

28. Green revolution is associated with
a) Aquaculture °  b) Agriculture c) Fishculture d) Prawn culture

BT T9,08C30 VRN CINR)TIF, AOWODATIRYTO ?
a) WOTX o) ivovaniens C) Qoeomedd  d) T BT
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29. What is the chief constituent of biogas ?

30.

a) Hydrogen b) Methane
&:@5 VDT T30 20
a) QRS b) Q0Tes®

Biodiesel means
a) Renewable energy source
c) Hydrocarbon plants

2003RCBICT DOWT
a) SRCTORLIBITIINT QO
C) BBRTOWFS RRMD

9

MS - 525
c) Oxygen d) Carbon dioxide

C) &I%S® d) TowF’ BT &

b) Gas yielding crops
d) Solid energy obtained by plants

b) Qe eméﬁt WiTalsy
d) RN BRTOINE HS VTS

31. Centrifugal separators are used to
a) Generate wind energy b) Harness geothermal energy
c) A process of water treatment d) Separate air particulates
ROETR,NTT ADNTEITOINTRO, VY WYROZT
a) MRYORI0D DTWT” YVTIW ) IRAIoTathialelagoloveldveRIaty
C) QT BOQEFTED Fe3T d) TRPOIL FEINTDY LeVF BRI
32. Logo of WWF-Nis ,
a) Redpanda b) Giantpanda  c¢) Polarbear d) Tiger
WWF-NT 0083
a) F0R) Tow b) = w0 C) GO TR d) O
33. In the present times the most important type of education required should be
a) Technical b) Job oriented
c) Value based ¢ d) Formal
TRV AQRCIDG NN LICTINTID 8B £0
a) 30033 8313 b) =8 &8ed
C) 335380 d) T0 00T 8T 9
M J - - - ..M miimas
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34. The exotic species in India

a) Pongamia 'b) Lantanacamera
c) Calotropis d) Jujuba

03T OB BLIeT

a) THPOTTAOIN | ' b) ©0t3x 59,5009

C) BOURLER R d) =owow

35. Municipal and industrial discharge pipes are
a) Nonpoint sources of pollution ”
b) Violations of the Clean Water Act
c) Point sources of pollution
d) lrrigation

BORTS® OB FMoDT T LMY BRYINEV
a) SROFT DRONTL),

b) 5’% QEOT TOOWTIOI LV OIS

C) SNIFT SARONTD

d) Jevowd
36. The instrument used to measure the height of a feature
a) Luxmeter b) Anemometer
c) Comfort meter ~ d) Altimeter
SRS ebgddaig{ 9303000 SVDO3RENRI LVDITOLD
) ©F OELIT b) e93R000e83TO
C) BORFE cQeE30’ d) ©O0et3T0
37. The below factor is not a symptom of ozone pollution
a) Sore throat b) Lung cancer
c) Amnesia d) Asthma
B3 F2003030 LB OSSO oiead@m .
a) Mok3e0 W36 b) ZoAEREBT FAIT*
| C) TP d) ©Rz»

L i o il L i S L
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38. Vegetation systems are important to man as they

a) Regulate air temp. b) Promote surface run off

c) Promote rock weathering d) Release carbon

RARLWNE Y BIRIDAN 330D, IF0TT 23

a) TP YVFHIODT AC0SRIBS b) 003 TOTE, FTETONOTES

C) B, WORNE HIITWRT A0W0ABS  d) QOMOVEI) LTINS SREIZ:S

39. Ecofriendly technologies are

a) Conventional energy b) Organic farming
c) Green building d) Both (b) and (c)
HORT Aeko BOZLIYD

a) AI0WTIDCUB 33 D) AOTONE Ty

C) DRITOAIIF D d) (b) =520 (€) TER

40. A mission which aims at creating a society where citizen are committed to
conservation of environment

a) Rajiv Gandhi Mission b) Rama Krishna Mission

c) Forest Protection Mission d) Environmental Education Mission
@dﬁ@@ S00RT ﬁodi‘séodaq J,03030N meﬁ@‘%%doé ITES emczeé@%i TOIL3T ;‘Jof-j;};
a) D236 MO8 ARJ® b) To0ZER 0RT

C) €T3, TTEDD QORY’ d) ORT &Td ORI®

41. The organisms which feed on dead and decéying matter
a) Detrivorous b) Omnivores c) Carnivores  d) Pests

A TINR BRYES EINT 330683 35300 BTTNTITY T .
Q) TRYS PWIFTN D) Q0T TONEL C) WR0RTONTO  d) §03ee3nsd

42. Birth rate in a population is known as

a) Mortality b) Natality c) Normality d) None of the above
IN083, 030 TSI FENBI SNARVEDle _
a) O3 b) Jee3nDes C) SozfF s d) CIRPYTR B
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43. HIV is transmitted through

a) Saliva b) Contaminated syringe
c) Sweat d) Air
H.1.V. 5202080300 @3Ny e300830030 BT
a) XPWTA b) TEOXS T
C) WHT - d) mo¥
44. Chernobyl disaster is associated with
a) Landslide b) Nuclear accident
c) Earthquake d) Allthe above
zﬁd@{m@f S F0EZEY TN _ EOTS LAV0EIDOARD.
a) 3RTOT D) TTERED 805703
C) LINTOT d) S0edT QTP
45. The species which are restricted to a particular region are callea
a) Endemic b) Rare c) Extinct d) Exotic
EnyCb @ﬁedﬁ@@tﬁdm@m
a) QOTWNT® b) Jeo® C) 2T°E30T° d) QTR

46. Boreal Coniferous forests are found in

a) Temperate regions ~ b) Tropical regions
c) Tundraregions d) Deciduous forests
23200 BRIFTA® TN A, FOWD WIS
a) t30TTeET TTEBNTY D) $3R,eTET TN
C) SO, W[TEDNI d) BIBOCIRE FoTONE
47. The abnormaltties in foetus is due to
a) Organic load b) Radiations c) BOD d) Aeroallergens
233, £9TD LR 23T DIOI
a) AOTWOIT LB b) D30 c) BOD d) PO LoF

SPACE FOR ROUGH WORK
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48. Human rights are
a) Standards of treatment to which all people are entitled

b) Can safely be ignored by international companies
c) Defined in the UN Global Compact 2000
d) Of nointerest to the customers of international companies

DIV TBINE

a) OO WIDONTHTLR FHBA,TIOTTIT WS VeI BED 3083,
b) @oédm%ew ﬁoa;r{%%g{ OB 59830 N BTINETRIYTI)
C) C30F T Y, Bocdees 2000 0D S0 eDRAVLILS

d) eﬂoédoo%mb M9,BBC BENMEIR DITBORY 0

49. Land which has lost its optimum potential

a) Wet land b) Warm land
c) Waste land d) Deadland
éwﬁ mabcﬁfddi FLBLROTS LI
a) 303303 3R D) 233N IR
C) oL IR d) z3eFeS PR
50. Three Mile Island event occurred in the US is related to
a) Gas tragedy b) Water contamination
c) Nuclear accident .d) Air crash
ROOIT ROWDIT P8O 20T 30008 7Y AOWODRT.
a) @O WO b) wwmRdF,
C) 30D TOTOS d) SNW|RT TOTOS
51. An abiotic component of an ecosystem is
a) Animals .b) Bacteria c) Plants ~d) Light
wéﬁd@aﬁacﬁ eﬂ?%ébﬁéﬁ NTTODHOD
a) 3,EINW b) meT, 2BedNsd  C) RRNTO d) P

ssbessilsi——— o el S
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53.

54.

D0.

506.
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Silent valleys is situated in

a) Goa b) Karnataka c) Kerala d) Delhi

3 0t7® et v __ |

a) NRewm b) 3J0FE3s C) 0% d) JxS
Mangrove vegetation is seen In

a) Coastal area b) Tundraregion c¢) Desert d) Allthe above
D03, 0N ﬁﬁﬁmé QTIEY)TR

a) ¢C T[T b) Sowo, w3e C) Wooodey  d) BoedT 0
The plant species which serve as biofuels

a) Jatropha b) Pongamia

c) Both (a) and (b) d) None of the above

ARl WISV ) L ONRI AR, LN

a) tIEIRCW b) oo

c) (a) == (b) ozER d) cdnTR B

A compilation of data in species threatened with extinction maintained by I[UCN
a) Green Book b) Census Data Book

c) Red Data Book d) Field Book

MOTE208TE0 WOTITMNPOTON Lo0NT L0wRATIRN [LIEWNTDI) TV SITED
IUCN S )& ~

a) TDATORAT D) =INE2S TDRE AT

C) B0 DTS DI d) 200300 A

Cloud seeding is a phenomenon adapted to induce

a) Precipitation b) Thermalinversion
c) Evaporation d) Infiltratjon

RRET WIZ0DY) 2933 BR0RTI B0,

a) RIS b) To0F S A DREI’
C) E3DCINMONT d) B3RO0
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57. Mining refers to

a) Checking pollution b) Conserving minerals -

c) Extraction of ores d) None of the above

NEIMo03 2038

a) SRIY, QO b) 0% %0 éﬁ 50T j‘

C) LQTO 3RS d) Roeds commTine &),
58. Which one of the following is non-biodegradable ?

a) Cow dung b) Cottonwaste c¢) DDT d) Allthe above

VRNTLROT 22633 HOGFBO0Y.

a) BRI AN b) =& =35 c) & &. & d) 02T LU
59. The group of organisms which convert light energy into food are

a) Autotrophs b) Heterotrophs

c) Decomposers d) Omnivores

@d@ﬁjoda@t eﬁ@dwmj\ RO R TCTIRIINT

a) &,0300 TP ERT b) &T TRERITS

C) BRIVSINLD d) <CDTONTS
60. World Environment Day is on

a) 5t July b) 51" August c) 5" June d) 5" May

T, VORT DIWNO, B3 DTTOT BLIORTIMIZT

a) 0 5 oo D) &na® 50000 C) wemF 500t d) ¢ Dot
61. The study of interaction between the living organisms and environment is called

a) Ecosystem b) Geology

c) Physiology d) Ecology

39,68 WY WORTT AOLIOGITI 0BT @C;);Qj&a)%

a) 5@05 Cﬁ@ b) O ﬁff
C) 9°83 ddnj d) zdﬁr{zuz- 'M;

S it
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62. The ecological pyramid which is always up right is

a) Pyramid of energy b) Pyramid of biomass
c) Pyramid of number d) Foodchain
ST 23¢25 WORTTS LTOTINGD
a) JIOD QLTBY b) 22ex5008 QTOEY
C) ROABNG LTIBY d) oSRRTR B,
63. Wind mills are used to produce
a) Electricity b) Thermal power c) Solar power d) Alithe above
DRSS OOZNYSY BBI YUSIDRWO WYAFYT
a) a)cﬁ%za’&g b) m%eﬁ_g C) RT3 d) ST VTP
64. An eco-movement against the indiscriminate felling of trees in UP
a) Chipko Andolan b) Appiko Andolan
) c) Vanamahotsava d) None of the above
Slellaninf N VT T3S TWORT 2373 SOBREVDYY)
) B¥Bp, BoBRLT b) eadne 0BRewS
C) TT BOTREBH d) CARPTRe B
65. Water Act was enacted in the year
a) 1981 b) 1974 c) 1982 d) 1998
O3 BRFTE) VEOT T TR BINBEING ?
a) 1981 b) 1974 c) 1982 d) 1998
66. The movement of ice sheets in Himalayas is callea
a) Glacier movement b) Snow slides
c) Mud flows d) Land slides
30e379@0NTE) a0 WOTENS WORN DRVITT
a) 1eA0TT WO b) &=0% w°
c) dasaga 2TOTO d) 2300 2T

e e TR R e L
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67. The tollowing factor is not an indicator of global warming

a) Sea levelrise b) Glacial retreat

c) Slope failure d) Increase in green house effect

B3 FPNS L2035) LIONST ToDasS OB 2020 D).

a) AT, dg&ggj éagd%f h) @003 FOMINE

C) QLT T d) TRTITOT LQONY A0T3 DU
68. Quinine, the medicine, is provided by

a) Eucalyptus plant b) Aconite plant

c) Cinchona plant d) Neem plant

G QX %Bai@ojoé% BTN 0T

a) QCOND b) TeRT

C) A0ZNRET d) Jemx)

69. Pneumatophores are the characteristic feature of

a) Tap roots b) Mangrove vegetation
c) Deserts d) Grasslands
d%ﬁoﬁ@eeﬁpeqﬁ ML OTEINGD AY ToraIZS

a) 300 WIeTd b) SR,oneE® ARNEL

C) ST d) TOLROEL

70. The branch of science which deals with the study of functional, structural and
biochemical effects of substances '

a) Forensic science b) Pathology

c) Enumeralogy ‘ d) Toxicology

DRONG TS, FooDF ASES a%é’oé ﬁ@mmﬁ@a’g{ eﬂc%odoé NIPIEOIN i&m ,;&05 LTSN
a) P Z" b) S

C) OVRIOTOV d) &30850%

i ik AP e
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71. Which of the following forest trees, shed their leaves during winter 7

a) Evergreen b) Coniferous
c) Deciduous d) Wet evergreen
33 BINT O3 FRFE) WO OTE) TITNY ST LVTOTIZES 7
a) ORVTNET’ b) %’@G?Dwdv
c) BIBOCIK® d) [ BT N e’

72. Which one of the following species is known as Azadirachta indica ?
a) Neem b) Mango c) Jack fruit =~ d) Sapota
et égﬁdaj)mf@mm@ddg{ 203 RTT Q0BT DOTID FTEOINTTO ?

a) e b) =) C) DO d) IR

73. Supersonic jets cause thinning of
a) CO, layer b) SO, layer c) O, layer d) O, layer
RDADT RACVT B NLOTT CIIDTYTO é{mrbgd 9
a) CO, wno b) SO, =no c) O, =TT d) O, xwo

74. 11" June is celebrated as
a) World Population Day b) World Environment Day
c) Darwin’s Birthday d) World Hygiene Day
20x° 11 Totd ) Stlontoplavcinl
a) DT, WIN0T,OT b) WToe3es TWORT O
C) TIFT® B T, d) T3 B0esT,T O

75. Cigarette smoking leads to the inhalation of
a) Sulphur dioxide b) Carbon dioxide
c) Nitrogen peroxide d) Carbon monoxide
GRTVITTEE) CIRF TSI SIONVTWRBE ?

a) AVD" @, T 7 D) QOMOVT T =
C) JR W XTT,T3° d) QOMOOT WRIOT T

m—

MS — 525 _ 18- | AR DR
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76. In an aquatic ecosystem phytoplanktons are

a) Consumers b) Producers
| c) Saprophytic d) Macro organism

WOTORT FBWHOY & LT 0TS NEV

| a) Posnsh b) UTTFSD
C) fﬁ@e@;wﬁf d) TRz Mg B3ednsd

77. POP’s is

a) Persistent Oxidizing Pollutant b) Permanent Organic Pesticides
c) Persistent Organic Pesticide d) Persistent Organic Pollutants
POP 03 QR @ o
a) TAFATLIOL’ BTN WO L30Ls D) TOFB0Ls SMoF T TR

| C) DRFAQLT LNMOF T T d) RIS SMOF VT DI’

f 78. Nutrient’s cycle’s reservior which exists in the earth
a) Energy cycle b) Oxygen cycle
c) Hydrological cycle d) Sedimentary cycle
RN LT ITHY
a) 38 ATV D) e320WTFT ITTY
C) RBRLIWF® ATIY d) 73 TR A0DP

79. Succession that begins on a sterile region where conditions of existence are
not at first favorable is called

a) Primary b) Secondary c) Tertiary d) Climax

T,IBRO T[TIBWOEITY TITOTOTN & DOITNTI TINT TWORT 2,38, |

a) BB b) Q3eob OB  C) g3eobToZ  d) YLOETT BT
80. The pollution indicator plant in aquatic system .

a) Algae b)*Hydrilla c) Eichornia d) Typha

ZOTORT aggﬁm;odaq DRI, BRI A,

a) Qﬁ@?\ b) 2B C) B8BRCTTACHL  d) &30

e T
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81. The study of individual organism is known as

a) Synecology | b) Population ecology
c) Autecology d) Human ecology
2,08 2360 BB FERT 930D, DF0T0 BEOINHI 9
“' a) ATV b) %), SeBS* FR
C) €383° TV d) BRIV DT
82. Ranganathittu in Karnataka is known for
a) Lion b) Tigers c) Elephants d) Birds
BIOF L3TTT don’sé% szé)d% a;%@p 9
a) 0D b) oD C) &3 d) &3Nd
83. Knock-knee syndromes is caused by
a) Fluoride pollution b) Lead pollution
c) Mercuric poliution d) Arsenic pollution
QT - JOTLREE0* C3RHTOOTT WTIBT 9
a) TR [RIJ b) 2ex DRI,
C) doo‘arazp 20O, d) 0% IO,

84. Atmospheric humidity is measured by
a) Auxanometer b) Photometer c) Hygrometer d) None

DD I 3@@30@35&3{ CRR)WOCT BFOINSIT ?
a) STRRCT® b) Fptdnedet3t® C€) Jripeoewt® d) cInmEe

85. The fungi in a forest ecosystem constitutes

a) Producers b) Primary consumers
C) Secondary consumers d) Decomposers
RS DO dgsdfgpabq & Do N

a) aij_a)mzsﬁo’o: b) @50 zp’ggdo

C) Q30D z;iiafda d) Z3RFPSINGL

L L T T F T SRR SRR R B S S L — e ——
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86. Rain water harvesting intends to

a) Avoid flooding b) Reduce run oft
c) Both (a) and (b) d) Decreased river waters
29RO BRCVOTINIE LIRIBAONED
a) ST-ToTWP VOO D b) QeI BOCINDTCD 3T
c) (a) &2 (b) HTED d) IO e RT3
87. Zooplanktons are
a) Floating plants b) Floating insects
c) Floating animals d) None of these
" ROTOT N’ 003
a) 3eCHTEOD ﬁz’gsr{%b b) e LN
C) BRI TR NSV d) CSRPTER Q.
88. The term ecosystem was coined in 1935 by
a) Tansley b) Darwin c) Lamarck d) Whittaker
BBLRRRO QDO CHATNAVY 9353 OIS TLRTHO
a) PRI D) TRNFS® C) CRIRTE d) Dedezo’
89. Fuel obtained from Sugar-containing plants
a) Ethanol b) Propanol c) Butanol d) Methanol
RYG 208, R 100m RABAINE BOFR |
a) APIO® b) Hp s C) WRL[O, d) SFToe*

90. The following are obtained from forests
a) Only essential oils | b) Only rubber

c) Resin and turpentine only d) Allthe above
QRNGE) O3 eﬁdsaa@od 3R80303S ?

a) 2B FONTO I, b) Swo® =g
C) BRI* &) WTF OIR® N8, d) Q=P
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91. Chemical that cause cancer are called

a) Neurotoxins b) Mutagens

c) Carcinogens d) None of these

aﬂaof 1 T2 00000 ToRo0NT digr{%ﬁo

a) SRTRELTIT N D) T,EPRRFNW

C) TAFIBREEITNED d) cdnyTe ¥
92. The unit of measurement of intensity of sound is

a) Decibels b) Lux

c) Parsec d) Ergs

5?,%33 mo@é&i@ CIR T O0UIF 0T 2LBOINRT ?

a) TBALWIS® b) ©%°

C) STO°AT d) ©0°

R Y

93. Soil conservation deals with

a) Reforestation b) Contour planting
c) Strip cropping d) Allthe above
OED XOTTESOR G CIREYT 2

a) OFPTADS’ b) To03RT* Totdon’
C) R TOROTY - d) QP

94. The relationship between nitrogen fixing bacteria and leguminous plants is an

example for
a) Parasitism b) Predation
c) Mutualism d) Commensalism

To OB LROTR mﬂz‘z}e@odaﬁeéo ASLY 6@55\)355" ;:d:;:sﬁ@?ﬁd)aﬁ 0O TENS o&a@cﬁ@

TR 9

a) T, TR’ b) &,Bea*
C) R0RDOINIRRT d) FRoFORR

M niivr-wr=v-ssinrdisibiiisieily=-slr-Sl= — W
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095. The intensity of earth quake is measured In

a) Beaufort scale b) Richter scale

c) Mohs scale d) Nano scale

méoa“:j’ddgt CINTYTOOT L0303 ?

a) WRFTT AT b) 030° Aeer

C) Spex® e d) SR RS
06. Earth day Is celebrated on

a) April 22nd b) May 22" c) June 22"d d) July 22nd

‘TR, 0T TR CIRD DT SWOARNIZT ? -. "

a) e 22 b) Zoe22 C) WRI22 d) o 22
97. An example for terrestrial ecosystem is

a) Spring b) Pond c) Forest d) None of these

ééd%éobef ORT dgsd;;ﬁ 20730 YVTIODOES.

a) B0 ' b) 3% C) 9363, d) cIRYTE 2o,
98. Goitre is due to the deficiency of

a) Chlorine b) lodine c) Fluorine d) Bromine

Mo, 03578307 QT BRTIO0T YVOEINOTT.

a) TRLOY b) 20030e&RI° C) TRLOT* d) 23R,
99. The Forest Conservation Act was enacted in the year

a) 1984 b) 1970 c) 1980 d) 1987

9065, TS0 FDOITIOTR) 2300 WIVETI ERF

a) 1984 b) 1970 c) 1980 d) 1987
100. An example for exsitu conservation is

a) National Park b) Sanctuary

c) Botanical garden ‘ d) Tundra’s

DRI ROTFFRT 20T VOB

a) T, €03 YVTTRTHS b) T3eed

C) RR30ei d) &owe

o T
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